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Section A – THIS ONE question is compulsory and MUST be attempted
Question 1

The following draft financial statements relate to the ABC Group.

Draft consolidated statement of profit or loss and comprehensive income for the year ended 30 November 2012.

	
	$m

	Revenue
	5,721

	Cost of sales
	(4,560)

	Gross profit
	1,161

	Distribution costs
	(309)

	Administrative expenses
	(445)

	Operating profit
	407

	Income from interests in joint venture
	75

	Defence costs of takeover bid
	(20)

	Loss on disposal of tangible non-current assets
	(7)

	Loss on disposal of discontinued operations (Note 1)
	(25)

	Interest receivable
	27

	Interest payable
	(19)

	Profit before tax
	438

	Income tax expense (Note 5)
	(57)

	Profit for the year
	381

	
	

	Profit attributable to:
	

	Equity holders of the parent
	306

	Non-controlling interest
	75

	
	381


Consolidated statement of changes in equity for the year ended 30 November 2012

	
	$m

	Opening capital and reserves
	873

	Profit for the year
	306

	Equity dividend paid
	(130)

	Deficit on revaluation of land and buildings
	(30)

	Deficit on revaluation of land and buildings in joint venture
	(15)

	Gain on revaluation of loan
	28

	Exchange difference (Note 8)
	302

	Closing capital and reserves
	1,334


Draft consolidated statement of financial position as at 30 November 2012

	
	2012
	2011

	Non-current assets
	$m
	$m

	Property, plant and equipment (Note 7)
	1,553
	1,800

	Intangible assets – goodwill (Note 2)
	60
	144

	Investments (Notes 3 and 4)
	600
	-

	
	2,213
	1,944

	Current assets
	
	

	Inventories
	836
	680

	Short term investments (Note 4)
	152
	44

	Trade receivables (Note 8)
	966
	540

	Cash
	24
	133

	
	1,978
	1,397

	
	
	

	Total assets
	4,191
	3,341

	
	
	

	Equity and liabilities
	
	

	Equity share capital
	440
	440

	Reserves
	436
	151

	Retained earnings
	458
	282

	Non-controlling interest
	330
	570

	
	1,664
	1,443

	Non-current liabilities
	
	

	Interest-bearing liabilities
	186
	214

	Provisions – takeover bid defence costs
	30
	15

	Other provisions (Note 6)
	435
	246

	Deferred tax liabilities (Note 5)
	66
	200

	
	717
	675

	Current liabilities
	
	

	Trade payables
	1,509
	973

	Income tax
	261
	220

	Interest payable
	40
	30

	
	1,810
	1,223

	
	
	

	Total equity and liabilities
	4,191
	3,341


Notes:

The following information is relevant to the ABC Group.

1.
The group disposed of a major subsidiary Piece on 1 September 2012. ABC held an 80% interest in the subsidiary at the date of disposal.

The group required the subsidiary Piece to prepare an interim statement of financial position at the date of the disposal. The consolidated carrying values of the net assets at the date of disposal are set out below in the summarized statement of financial position at 1 September 2012.
	
	$m
	$m

	Property, plant and equipment
	
	310

	Current assets
	
	

	Inventories
	60
	

	Trade receivables
	50
	

	Cash
	130
	240

	
	
	550

	
	
	

	Share capital
	
	100

	Retained earnings
	
	320

	
	
	420

	Trade payables
	105
	

	Tax payable
	25
	130

	
	
	550


2.
The carrying amount relating to goodwill in the group accounts arising on the acquisition of Piece was $64 million at 1 December 2011. The loss on sale of discontinued operations in the group accounts comprises:
	
	$m
	$m

	Sale proceeds
	
	375

	Carrying value of Piece at disposal
	
	

	Net assets
	420
	

	Goodwill
	64
	

	
	484
	

	Less: Carrying value of NCI at disposal
	(84)
	(400)

	Loss on disposal
	
	(25)


The consideration for the sale of Piece was 200 million equity shares of $1 in Meal, (the acquiring company) at a value of $300 million and $75 million in cash. During the year, the group recognized an impairment loss of $20 million arising on other intangible assets.

3.
During the year, ABC had transferred several of its intangible assets to a newly created entity, Kevla which is owned jointly by three parties. The total investment at the date of transfer in the joint venture by ABC was $225 million at carrying value comprising $200 million in tangible non-current assets and $25 million in cash. The group has used equity accounting for the joint venture in Kevla. No dividends have been received from Kevla but the land and buildings transferred have been revalued at the year-end.

4.
The investments included under non-current assets comprised the joint venture in Kevla ($265 million), the shares in Meal ($300 million), and investments in corporate bonds ($35 million). The bonds had been purchased in November 2012 and were deemed to be highly liquid, although ABC intended to hold them for long term as their maturity date is 1 January 2010.

The short term investments comprised the following items:

	
	$m
	$m

	Sale proceeds
	
	375

	Government securities (repayable 1 April 2013)
	51
	23

	Cash on seven day deposit
	101
	21

	
	152
	44


5.
The taxation charge in the statement of comprehensive income is made up of the following items:

	
	
	$m

	Income tax
	
	171

	Tax attributable to joint venture
	
	20

	Decrease in provision for deferred tax (Note 6)
	
	(134)

	
	
	57


6.
Other provisions

	
	Pensions
	Deferred taxation
	Total

	
	$000
	$000
	$000

	At 1 December 2011
	246
	200
	446

	Exchange rate adjustment
	29
	-
	29

	Increase in provision
	160
	-
	160

	Decrease in provision
	-
	(134)
	(134)

	At 30 November 2012
	435
	66
	501


7.
The movement on tangible non-current assets of the ABC Group during the year was as follows:

	
	
	$m

	Cost or valuation 1 December 2011
	
	2,100

	Additions
	
	380

	Exchange gain
	
	138

	Revaluation
	
	(30)

	Disposals and transfers
	
	(680)

	At 30 November 2012
	
	1,908

	
	
	

	Depreciation
	
	

	1 December 2011
	
	300

	Charged during the year
	
	150

	Disposals and transfers
	
	(95)

	At 30 November 2012
	
	355

	
	
	

	Carrying value at 30 November 2012
	
	1,553

	Carrying value at 1 December 2011
	
	1,800


8.
Interest receivable included in trade receivables was $5 million at 30 November 2012 ($4 million at 30 November 2011).

9.
Exchange gains on translating the financial statements of a wholly-owned subsidiary have been taken to equity and comprise differences on the retranslation of the following:

	
	
	$m

	Non-current assets
	
	138

	Pensions
	
	(29)

	Inventories
	
	116

	Trade receivables
	
	286

	Trade payables
	
	(209)

	
	
	302


Required:
(a)
Prepare the consolidated statement of cash flows for ABC Group for the year ended 30 November 2012, including the note relating to the disposal of Piece, in accordance with the requirements of IAS 7 Statement of Cash Flows.

You are required to use the indirect method to produce the statement of cash flows. Other notes to the statement of cash flows are not required.



(35 marks)
The directors of ABC are considering raising finance to expand the group. One option they are reviewing is to sell one of their factories to Indigo, a subsidiary of Emerald Bank for $10 million. The factory has a carrying value of $8.5 million. Indigo will be financed by a loan of $10 million from Emerald Bank. ABC will be paid a fee from Indigo to continue to operate the factory. The fee amounts to the balance of any profit remaining after interest has been paid on the loan outstanding to Emerald Bank. If the factory makes operating losses, ABC will be charged a fee that covers the operating losses and the interest payable.
Required:

(b)
Evaluate the substance of this transaction and determine the accounting treatment.



(9 marks)

(c)
Discuss briefly the importance of ethical behaviour in the preparation of financial statements and whether this arrangement could constitute unethical practice by the directors of ABC.
(6 marks)


(Total 50 marks)

Section B – TWO questions ONLY to be attempted
Question 2

The Gow Group, a public limited company, and Glass, a public limited company, have agreed to create a new entity, York, a limited liability company on 31 October 2012. The companies’ line of business is the generation, distribution, and supply of energy. Gow supplies electricity and Glass supplies gas to customers. Each company has agreed to subscribe net assets for a 50% share in the equity capital of York. York is to issue 30 million ordinary shares of $1. There was no written agreement signed by Gow and Glass but the minutes of the meeting where the creation of the new company was discussed have been approved formally by both companies. Each company provides equal numbers of directors to the Board of Directors. The net assets of York were initially shown at amounts agreed between Gow and Glass, but their values are to be adjusted so that the carrying amounts at 31 October 2012 are based on Hong Kong Financial Reporting Standards.
Gow had contributed the following assets to the new company in exchange for its share of the equity:
	
	$m

	Cash
	1

	Trade receivables – Race
	7

	Intangible assets- contract with Race
	3

	Property, plant and equipment
	9

	
	20


The above assets form a cash generating unit (an electricity power station) in its own right. The unit provided power to a single customer, Race. On 31 October 2012 Race went into administration and the contract to provide power to Race was cancelled. On 1 December 2012, the administrators of the customer provisionally agreed to pay a final settlement figure of $5 million on 31 October 2013, including any compensation for the loss of the contract. Gow expects York will receive 80% of the provisional amount. On hearing of the cancelled contract, an offer was received for the power station of $16 million. York would be required to pay the disposal costs estimated at $1 million.
The power station has an estimated remaining useful life of four years at 31 October 2012. It has been agreed with the government that it will be dismantled on 31 October 2016. The cost at 31 October 2016 of dismantling the power station is estimated to be $5 million.
The directors of Gow and York are currently in the final stages of negotiating a contract to supply electricity to another customer. As a result the future net cash inflows (undiscounted) expected to arise from the cash generating unit (power station) are as follows:
	
	$m

	31 October 2013
	6

	31 October 2014
	7

	31 October 2015
	8

	31 October 2016
	8

	
	29


The dismantling cost has not been provided for, and future cash flows are discounted at 6 per cent by the companies.
Glass had agreed to contribute the following net assets to the new company in exchange for its share of the equity:
	
	$m

	Cash
	10

	Intangible asset
	2

	Inventory at cost
	6

	Property at carrying value
	4

	Lease receivable
	1

	Lease payable
	(3)

	
	20


The property contributed by Glass is held on a 10 year finance lease which was entered into on 31 October 2006. The property is being depreciated over the life of the lease on the straight line basis. As from 31 October 2012, the terms of the lease have been changed and the lease will be terminated early on 31 October 2014 in exchange for a payment of $1 million on 31 October 2012 and a further two annual payments of $600,000. The first annual payment under the revised terms will be on 31 October 2013. York will vacate the property on 31 October 2014 and the revised lease qualifies as a finance lease. The cash paid on 31 October 2012 is shown as a lease receivable and the change in the lease terms is not reflected in the values placed on the net assets above. The effective interest rate of the lease is 7%.
Glass had entered into a contract with an agency whereby for every new domestic customer that the agency gained, the agency received a fixed fee. On the formation of York, the contract was terminated and the agency received $500,000 as compensation for the termination of the contract. This cost is shown as an intangible asset above as the directors feel that it represents the economic benefits related to the future reduced cost of gaining retail customers. Additionally, on 31 October 2012, a contract was signed whereby York was to supply gas at fair value to a major retailer situated overseas over a four year period. On signing the contract, the retailer paid a non refundable cash deposit of $1·5 million which is included in the cash contributed by Glass. The retailer is under no obligation to buy gas from York but York cannot supply gas to any other company in that country. The directors intend to show this deposit in profit or loss when the first financial statements of York are produced. At present, the deposit is shown as a deduction from intangible assets in the above statement of net assets contributed by Glass.
(All calculations should be made to one decimal place and assume the cash flows relating to the cash generating unit (electricity power station) arise at the year end.)
Required:
(a)
Discuss the nature and accounting treatment of the relationship between Gow, Glass and York.
(5 marks)

(b)
Prepare the Statement of financial position of York at 31 October 2012, using International Financial Reporting Standards, discussing the nature of the accounting treatments selected, the adjustments made and the values placed on the items in the balance sheet.


(20 marks)



(Total 25 marks)

Question 3
Batter, a company with several subsidiaries, has carried out a reorganization within the group in the current financial year to 31 December 2012. The following changes are relevant.
(a)
Batter has tow operating units, X and Y, which consist of non-current assets only. Some impairment was recognized in Unit X during the year, and at 30 November 2012 the unit has been written down to its recoverable amount of$24 million. Batter has decided to dispose of Units X and Y in a single transaction, and at 30 November 2012 the criteria had been met to classify the units as ‘held for sale’ in accordance with IFRS 5 Non-current Assets Held for Sale and Discontinued Operations. As at 30 November 2012, information relating to the two cash generating units was as follows:
	
	Fair value less costs to sell and recoverable amount
	Depreciated historical cost
	Carrying value in compliance with HKFRS

	
	$m
	$m
	$m

	Unit X
	36
	24
	24

	Unit Y
	42
	58
	42

	
	78
	82
	66


At 31 December 2012, the fair value less cost to sell had increased for both units and was $30 million for X and $65 million for Y. This increase has not yet been taken into account by Batter.
(8 marks)

(b)
Following a change in the tax laws, the tax authorities are allowing Batter to revalue the tax base of the non-current assets of the holding company at 31 December 2012. There has been no change in the carrying values of these non-current assets on the accounts of Batter and no accounting adjustments have yet been made in recognition of the change. The tax base and the carrying amount of the holding company’s non-current assets are as follows:

	
	Tax base at 31 December 2012 before revaluation
	Tax base at 31 December 2012 after revaluation 
	Carrying amount at 31 December 2012

	
	$m
	$m
	$m

	Equipment
	25
	34
	28

	Plant
	36
	44
	39


Other taxable temporary differences amounted to $3 million at 31 December 2012. The rate of income tax is 25%. In the draft financial statements of Batter, the deferred tax provision has been calculated using the tax base figures before the 31 December revaluation.
(6 marks)
(c)
On 1 January 2012, Batter granted 20,000 share options to each of 100 senior executives. The options vest on 31 December 2014, provided the executives remain with Batter throughout the period ending on 31 December 2014 and providing the share price of Batter is at least $1.60 on that date. Relevant data relating to the share options is as follows:
	
	Market value of:

	
	Granted option
	Batter share

	1 January 2012
	$0.84
	$1.20

	31 December 2012
	$0.90
	$1.28


On 1 January 2013, estimates suggested that 95 of the executives would remain with Batter throughout the period. This estimate changed to 92 executives on 31 December 2012.
(5 marks)

The directors are aware that the draft financial statements for the year to 31 December 2012 will need some adjustments to allow for items (a) to (c) above and they are worried that the accounting adjustments needed will reduce the reported ROCE. In the draft financial statements, the profit before interest and tax is $36 million and the total capital employed is $250 million, giving a ROCE of 14.4%.
Required:

Discuss the correct accounting treatment of items (a) to (c) and the impact that any required adjustments will have on the reported ROCE.

Your answer should discuss the accounting principles involved and should also present appropriate calculations for the adjustments and the revised ROCE.

(d)
On 1 January 2011, Omega signed a contract to purchase a machine from a foreign supplier on 30 June 2011. The purchase price of the machine, payable in cash on 30 June 2011, was 2 million shillings. On 1 January 2011, Omega entered into a forward contract to purchase 2 million shillings on 30 June 2011 for $1·1 million. On 31 March 2011, a contract to buy 2 million shillings on 30 June 2011 would have required a payment of $1·2 million.
On 30 June 2011 the spot rate of exchange was 1·6 shillings = $1. The forward contract was settled by the other party making a payment of $150,000 to Omega on that date.
Omega estimated that the useful economic life of the machine was five years from 30 June 2011, with no residual value. Omega uses hedge accounting whenever permitted by IAS 39 – Financial Instruments: Recognition and Measurement. The currency contract fully complies with the criteria and conditions for hedge accounting as set out in IAS 39.
Required:
Explain the accounting treatment required for the above machine and foreign currency contract, also preparing extracts from the financial statements (statement of comprehensive income and statement of financial position) for the years ended 31 March 2011 and 31 March 2012.
(6 marks)

(Total 25 marks)

Question 4
The IASB has issued the Conceptual Framework for Financial Reporting 2010 which focuses on the objective of financial reporting and the qualitative characteristics of financial statements.
Required:

(a)
Briefly discuss the key points of this current development including the reason why a new conceptual framework is required.
(10 marks)

(b)
Discuss whether the following items meet the definition of an asset or a liability according to the Conceptual Framework for Financial Reporting 2010.
(i)
Purchased goodwill

(ii)
Provisions

(iii)
Deferred tax



(6 marks)

The IASB has published a Practice Statement on management commentary in December 2010 which provide a broad, non-binding framework for the presentation of management commentary which that relates to the preparation of financial statements.

(c)
Discuss the status of the reporting standard, together with objectives, content and benefits of a management commentary.
(9 marks)


(Total 25 marks)

6

